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HELLO EVERYONE!

Last time, we started with
‘dialect’ and ‘diatype’ _ ‘

‘Dialect’ is a person’s special way of speaking or using a language,
while ‘diatype’ has to do with the purpose of speech, so ‘diatype’ is
not related to the way of speaking; it’s related to the purpose of the
speech. This is the difference between ‘dialect’ and ‘diatype’, so
to do with the person and ‘diatype’ has to do with the
ct” is ‘user-related variation’ and

CHAPTER TWO. We talked about

‘dialect’ has
purpose. This is why we say ‘diale
‘diatype’ is ‘use-related variation’.

Dialects or User-related Variation contain many factors:

User-related Variation:

1. Idiolectal Variation

2. Geographical Variation

3. Temporal Variation

4. Social Variation

5. Standard & non-standard variation.
* ok
Today, we will start with Use-related Variation which is ‘diatype’

as we said previously.
~ Goto page 21: - |
oo Userelated Variation .

D

Registers, i.e. use-related variation,

"are defined in terms of differences in grammar, vocabulary, etc,
between two samples of language activity such as a sports
commentary and a church service.”

The translation:

.1.&:'}5,“ “a"._ K:J.J.:.Lwl t;lﬂ |)L°:“;! (P' - 2 i S

asiw ¥l Alagi b oyt gl paidl dags) B
ooldl Gl On LAY gl LLA e Otadse On &) eihaydlly

i

Register can be delined in general sense as the language used by a

certain group of people who share similar words or intercsts such &S
doctors or lawyers.

Ll e Aa o 4 ceow ot R
O G A Ao paaa Lgaad L 2id aly Jall el (regiister) W —mo O

"
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Cpalaadl g cLRYIS clabain Y1 i b€l uds plastudy 058 s osall
It is a language of specialists as doctors. When you have a group of
doctors discussing a certain medical case, they use certain words and
they usc certain expressions; this is what we call “their own register”.
Um0 588l e LY (e e gass allin () o8 Ladie LYK fualiaia¥ 4ad L)
1 g Lo 130 3 g la/cilallacmn y Ligen <Ll () podiiiey pgilh e Lol Al
26 paBY (register)
L} W (church service) Jis (sports commentary) Usal &y o JHeSs
Lo ala (register) L) el Lo ala il jia s LIS
Go to page 22:
Register should be understood in terms of:
1. The "... 'convention' that a given linguistic utterance is
appropriate to a certain use”
The translation:

o Gy padl A gh @gh cem
"[‘J'}-“' (ﬂ.}.‘x.hay -_.u.ul.ue Crisa L_fj"“ Laal U‘i" C)Ua_.a‘ "

Go on:
2. The identity of a given register is not determined by isolated
items but often determined by the collocation of various lexical

items.
~ The translation:
o a5 L Gl gy Lgos O Aius Dloyde Giyle (02 Oten oo Bugh a3 VY
caabised) Aumall pualinl canliad MG

1t is certain vocabulary use, cerlain graminar use, cerfain way of

pronunciation; they all make up a certain register. B

3. Communication is facilitated when the participants in the
situation type are aware of the conventions of that particular type.

~ The translation:
Ly Lle Ul dasd 2 osSHlath oS Lodie Jgul Jual g/ JLai¥i sy ¥
Otall g gl s il g3/ ety

Imagine a group of doctors discussing a certain matter and we are
sitting among them; we wouldn’t be able to understand fully what
they are talking, about if they are using medical terms, medical
conditions, and medical solutions. This 1s why knowing that register

Science of Translation 2.3 3 AYDI 2022/ T1
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makes the communication easier. This 1S why we said (it facilitates the

communication).
L;!-;L)J_)JLE)_GLJ‘_)AmchLl:JA‘ AUPL’“GDL‘ALW'L‘“JL)AMLU‘JAM

uﬂuymjlbﬂaul-\l@uyb—wlﬂs ‘A‘Qsdswmuymu&g
e Jras of Wil 0e (register) ) 48 e bl ks Jala el Ak s
(sl sl e Jgud (register) A3 yea o) Sl Uleale haa g ‘J&H‘ el il
Three main types of register variation can be contextually
categorized as 1) Field of discourse, 2) Mode of discourse, and 3)
Tenor of discourse. -
- Contextually: related to contexl
The translation:
oy bl B G Gladl G (e el aga BT cadual (S
ool s ¥ Glasdl oglil Y Gallazedt Jloea )

Now, let us sce the three main types or register variation one by
one. Go lo page 23

e i R 22 1 Fleld ofDlscourse R e
Fle!d of dlscourse is concerned with the purpose of the
communication as well as the ;gb]gct matter.
- Field of discourse: (S>all 5w g€ally paill Jlas
- Purpose 0/ conummtcatmn J._—.\ }J\ “a

(T SN SALYPY  H1% SIS

s.a:u.” t}ubyﬂ L:r“ QL@YL} d"‘"j‘n 5543.\ n....\U:\::J! JL:;A Jau).l

With doctors the purpose or the subject matter is medicine; this is
the field of discourse.

At one end of the contmuum we have the specialist field. The
non-specialist field occupies the other end. In between, we have the
mid-specialist fieid.

- Continuum' u.‘\l_ul:';

l@,u Ylws @anss umw wu s C_o,i,n Jlall L &Fm mem L,mhm\-“

————

People who are specialists in this fie
not specialists in this field like us,
with it; those are mid-speci

Id like cloclors people Who are
and people who are a bit familiar
alist like nurses who would understand

———

S‘cmnce uf hamldnuu 2.3

— =
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some f)i" what are doctors talking about.
UaldEYy (ad ab ranadiall i alaiN s cLLYI A peacadiall Gala sl
O paall aa LYl s, (e 18 o () sagdin () Cranadial Coial
Go to pflgc 25

HY R 1222 Tenor of Dlscourse o
Tenor refers to the relation between the pamgpgnts mvolved in

the event of communication.
- Tenor: wslul o
The translation:

3 ul]aadl u}w
Jmiyu ilee 2 4S)Lu.,,1 cal, LV (o :em,n (_,JI "u,xwl 2.5 ah3
Tenor of discourse has to do with the kind of relation among
people engaged in a conversation. i’s like the tenor of discourse
between me and you. It is a formal relation because it is (students —
teacher relation). You can’t joke with me because I'm your teacher,
but you can joke with your friend because the type of rclation between
you and your friend is different from the relation you share with me.

It ranges from extreme formality to mid-formality to informality.

The translation: -
an ) Aawgie Ay dusw) it La Ll y Aauyll lays uadl (s o359

For example, you share a formal relationship with me, you share a
mid-formal relationship with your neighbor, and you share an
informal relationship with your friend.

Go lo pagc 26

T 22 3. Mode: of. D:scourse
Mode refers to the mezns by which commumcatlon takes place
between participants. The basic distinction is made between speech

\and writing.
- Mode: way (48 b)

The {ranslationz

1l 2 )Ja/%.:u.da
2 L,nS)J:_.ll s Jealgil! LngLm O S S L‘L.l_mﬁji L,!I (_’UQ_QJ‘ d_!.uja il
e ga L Oy (S 98 Lo O 0550 ol Buds 2 Gyl el bl

It’s the way that you are delivering your conversation either by

B T L oy b an .2 P
Science of Traasi- "o 5 AYIDN 2020
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speech or by writing.

The mode of discourse between us now is (speech) and the mode of
discourse between us in the exam will be (writing).

Go to page 27: e

It is irhportant to mention here that tenor, field, and mod;‘
overlap

- Overlap: dalaiy

The translation:

51 ol oS sl ey wosleds Jhae Ol S jpaadl (e j

It means that they might exist in one discourse, for example, if |
talk about us as (a teacher) and (students), the ficld is having a lecture,
the tenor i.e. the relationship is formal, and the mode of discourse is
(speech), so this is how tenor, field, and mode overlap.

Now, let us talk about Genre.

- Genre: a certain type or category of something.

Go.lo page 28:

LNt 2.3 Register 8t Genre ik e U
Different genres display different features of field (lexicon,
grammar, etc.), make use of different mediums of transmission
(mode), and accept different degrees of formality between the
participants engaged in the event of communication (tenor).
- Genre: psis/g 5
- Display: sk
The translation:

Oa iy (@] aeladll v ohaall) Jlesl) dabae Glew kil lgll 5,0
Ol 1 AL G el (e Qalinea cilsys Jaiig o (Readall) dilizes Juolgs Jilag

(sl Juolgill Goas 2

Let us say we have a novel. The genre is a novel. The field it might
be a romantic novel or a historical novel. The tenor between the
writer and the reader is formal as well. A novel has its sets of rules
and the novelist has to follow these rules, so this is what we mean by
(tenor) i.e. the relationship between the writer and. the reader. The
mode here (in a novel) is (writing), so this is what we mean by (genre)

Scievwnsof Tear - ] e

6 AYD:

Scanned with CamScanner



) o . o
in which we have the three [catures of the use-related variation.
$ok

~ Let us sce the cxample:

| The genre of news report displays features of a field. That is|
usually non-specialized and non-technica! since the news report is
addressed to the layman.
- Layman: an ordinary person who lacks knowledge or awareness
in a certain special field.
DaaV A )5S o aag DA A (addressed) S ol s La SN e
el Lsgis S (non-(echnical) s (non-specialized)

The translation:
R ks G it Rl 30 Jlnll peilad b ST £ ekl |
(bl GLuidl 45 ga oL s yailt oY W3y Al o

People need to understand what they are talking about, for example.
in news reports or in breaking ncws, they nced to use terms that
ordinary people can understand. First of all. the field here is a news
report. Sccond. the tenor i.c. the relation between the receiver (a
person who is watching the news) and the producer (announcer) is
usually formal. Third, the medium is the mode ie. the way he is
delivering the news; it could be speaking (we listen to news) or

writing since we have ncwspapers.
- Medium: way

¥ ok

The text:
The world's biggest fast food company McDonald's is suffering a

chip shortage in Japan due to the global supply chain crisis.

For the home of the Big Mac though it is not a lack of
semiconductors that is causing the problem. The firm has said it is
experiencing delays of shipments of the potatoes used to make its
famous French fries. As a result, it will only sell small portions of its
French fries in Japan from Friday until 30 December.

"McDonald's Japan will temporarily limit sales of Medium- and
Large-sized French Fries as a proactive measure to ensure customers

can continue to enjoy McDonald's French Fries.
"Customers will still be able to order Smail-sized French Fries at

7 AYDI 2022/ T1
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all of our restaurants. To date, there have been no breaks in

supply,” the company told the BBC.
McDonald's said it usually imports t

port near Vancouver in Canada.
However, ships have faced delays due to flood damage and the

impact of the pandemic on the global supply chain.

it will now turn to alternative measures, including flying supplies
to Japan, the company said in a statement. '

This is not the first time McDonald's in Japan has been forced to
downsize its portions.

In 2014, a protracted industrial dispute between 20,000
dockworkers, terminal operators and shipping lines at 29 ports on
the west coast of the US caused a shertage of French fries.

In response, McDonald's Japan teok the emergency step of only
selling small portions of French fries while it flew in 1,000 tonnes of
potatoes. ‘

Separately in August this year, McDonald's said it was facing
supply issues affecting the availability of shakes and bottled drinks
at its 1,250 outlets in the UK.

The company said a nationwide shortage of lorry drivers was one
reason behind the disruptions: "A number of issues are impacting
retailers in the UK at the moment, one of which is the nationwide
shortage of HGV drivers.”

The company added that a “historic” shortage of drivers had
been exacerbated by changes to rules following the UK's exit from
the European Union.

he potatoes it uses from a

okt ok ok ok ok ok ok
let us start:
The world's biggest fast food company McDonald's is suffering a |
chip shortage in Japan due to the global supply chain crisis. J
Who would like to try?
Stadent: ‘
QU (3 Ul (3 Gt e pllall 8 3y ol cilin S S5 5 5l Sl Al
Avalladl alaay Al -u)\ e
Instructor: what did you translate (global supply chain crisis)?

— ;- e

8 AYDI 2022/ Tl
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Student: oWl 2wy gl s,
Studeni:
(o) Ll 5 () a3 Y s (chiain)
Instructor: ok. | )
- Chain: 4l
- Strain: AL
et 8 taldll 58 llia By
Who else?
Student:
Rl (8 Ul 3335 4 Gl (g Al gyl cilin o) S5 S (s
Aralladl gl AL 4 5 i
f(Ualday) ol (3305 5) ) (chip) pa st of Wile Js
Instructor: Ustl,
What’s the difference between (French fries) and (chips)?
Student:
el JG e o585 (French fries) -
Instructor: exactly.

(G8N) (o8 (chips) A1 Ll ((3ba¥l) & (French fries) I
- French fries: 4ia Uslhy ailial

Student: |
U (A j8) A€ Gt i Wide i
Instructor: ' .
Galle <y pa 55 4 3alGYT Al w1 s 13gd (Fasd ) A8 i O Lide )

sl s i glaia g
sl s 8 (French fries) 3 Lol g JSE 4y s 3355 ,a (chips) JI
(OUN ey 3) Jsis Of s (to be more specific) s (OLL) ) ails i
- In Japan: bl Bl 8 obllg 8 3

- Shortage: = ) -
- The global supply chain crisis: 4saladl 3 ) gilt Ao Za 5

gk ok

Go on:
r‘For the home of the Big Mac though it is not a lack of

semiconductors that is causing the problem. The firm has said it is
experiencing delays of shipments of the potatoes used to make its
famous French fries. As a result, it will only sell small portions of its
French fries in Japan from Friday until 30 December. -

—h_ -.;:,-*“.:'—-"zms!ntion 2.3 9 ¥ ?0"2/1‘1
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Who would like to try?

Student:
Aﬁéﬂ)\i\.’\l\uaﬁigéQ&YM‘Q‘@@)‘Q&JK)mEJh‘_ijE
5 jnealt Aliall Usllall aiial dansieeall Ualag) cilias il 45l 5 Ll s
patins DY OIS i G N a5 el o s (e T2 L lal 4a 8 Lc—i-ugl
,Ogggl%jaﬁﬂtg;}qéwmnwlwswwij)m

Instructor: }
O 3 el (Ll sb 3 ey ) Gen i Sk ) Cadld (famous) d il
(B ngdl) st
O s k) ) (small portions of its French fries) Cuas i oSl
5 S ey (Leas) i (portion) OY grsea e 23S 13a s (e Ul
Agalll pgaiSi S ppia pasan (s | gaal ol
- Portions: pasas
Student:
Ul (s 5) S (portions) OY (Sl g) Al (Games) i i Wile
Instructor:
o dan sl sl g Ul J i S (Rag) w0 08 (portion) S
| 5ald agd ((Auilae dian) a3 (portion) gkl § smge i oS Cushl el
What did you translate (semiconductors)?
Student: S2EG
Rtk | _91 C_zL...a_dl i 430 4] cgu RPN
Instructor: no, it’s not.
What is the literal mganing of (semiconductors)?
Student: < ba g oloil
Instructor: ok. What does it mean in Arabic?
Student: L g
Student: Lagaan pa Hiud Joay
[nstructor: no, it’s not.
- Semiconduclors:
Ao ML“’" BJL‘.) ?}“L‘J‘]l sh O sSabaudy (4 4e sl A sa 3,0 ‘_5‘ Jily as e
Aol Gl s Lemay e @il ., b Ly (el
A T .(semicm‘lduc.tors)
e TR e (A dadii g gl e e st e
Student: dsasi
Siudent: Ju

R .'}'\')" 2.3 l() et r{vl

Scanned with CamScanner
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Instructor:
el o As ($Lostl) u=d e L (semiconductors) 6 Uas 2SS 1
ealS Al of JsB ol ey ¥y cpgliai Yyl (shipments) 3t 8 Aia Lyl Ua
OB Cparing Upd) peay 43 disl) 05 b
s J 4w of A<l J s ol
The company is trying to excuse itself in front of people and telling
them that the problem is not in our company. At the end of the day,
they use electronics to make potaloes. They can use air fryers or
electronic {ryers. They are trying to say the problem is not in our
machines. It is the fact that the shipment was delayed. This is the
meaning of the sentence.
- Fryer: 32a
- Delayed: < b
Student:
Sagiiae A Cuad DA o) () s3miy agil iay 132 da
Instructor: exactly.
We can say,

sl azdl 20 Wle o Ak saiad Slo¥E Liial) auil WSl sds cow S @
asl st

Student: .

§AS il oy d8de A el (Big Mac) O ina s Ja
Instructor: _

L Ol Ay st ol o (Big Mac)
McDonald’s is the first company that invented the Big Mac.
Student: ) o
¢(Lase) On Y (Ulse) Jsii O (S o
Instructor: yes, we can.
E g

Go on: -

The firm has said it is experiencing delays of shipments of the
potatoes used to make its famous French fries. As a result, it will
only sell small portions of its French fries in Japan from Friday until
|30 December.

Who would like to try?
Student:

T B [ ¢

Science sl " 5 11 AYis 2o 7%
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—_—

Ul gl ahae] b Aosiiuadl Untladl il 5305 0o (a5 i) 3,00 g

) g ¢ & - & - 11 B8 S - - . -
(:)L.aio.ns , Qulj.bu@ﬂuyéﬂ‘ubéﬂﬂ“#sij-@%w‘
OslS e O oI sy Aeaall oar 0e T OULI 3 Les 3 8 A
.d_s.\'i

Instructor: thank you. . i
= (5 seiall) Lasd ad 5 (e By sy J it o
- Delay: »ab

- Shipments: Gliss
We can say.,

Ol

¥k ok

Continue pleasc;
o - - - . —h“}
"McDonaid's Japan will temporarily limit sales of Medium- and
Large-sized French Fries as a proactive measure to ensure customers
can continue to enjoy McDonald's French Fries.
“Customers will still be able to order Small-sized French Fries at
all of our restaurants. To date, there have been no breaks in

2 Ly 2wl Ueladl plol o dpbis oleS g pladd g Uit 2ag }

supply,” the company told the BBC,

Who would like to try?

Student:
Ao shell il Ul il (0 e JS UL & 53 50 531 4S5 ania
50 5280 Uslay U (3 0 S paid ol Bliel o yalS axall 5
i) Wl bl (e 08 3 Qe y L) S el LS cilia)

: o2l g U lin 0 o OV s 5 Vs Una gaas 3 a5 00
instructor: thank you. “
Student:

e ool el of Gl Vags ol (g stane e 5 i Lt (3 5) (sina
Instructor:
: A Ay el

There is a certain dish that we like in a certain place, so this

restaurant is famous for this dish

(BN B 850 0y Laify ol 13 e Ly g o il gl
Student:

——

.
Science of Translation 2.3 ,

Scanned with CamScanner
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AKFC) J dpaily o SH Jia
Instructor: exactly. Who else? "
Student:
S5 Adasagiall Al WRUall ilagsa g G UL 3 Lo i alli paSLe ani
LS il 5alli gaSla Uabhy o Baall pliaial ) peind Glacal 3Lt ¢l el saal
5 st Auliall LUl ol 630l 508y ey 4 oy oy s A€l
AhhaY 8 e Uil s oK el G s g Lpae U fen b paall
Instructor:
sab (Jrendl) Waly (5300 ) Gl s (03) Vemn s of Lile (customers) 4 4wl
(3 80 ga i ) (5% Lasie g8 5 (client)
- Customers: (4
- Clients: ¢>e

Student:
fadbal€ ol daa Walladl e Jubai o Lide Ja
Instructor:
_ Ay gl dian o
Student:
e(‘é.u = ELl.i) ?l (2 ) Jsai Ja (BBC) daaly
Instructor:
5o (g ot ot ) o (oo o 3) U5 0 e
Student:

Ciladl L oon o2 o ool gl S Rlaall A s of (S s
Instructor: no, we can’t.

Oiball o Jomii o g G131 (quotation marks) W o g si S el
- Proactive measure: Suisl yud

We can say,

adal L‘aua_..” R ):4..5.”3 J‘w‘}“ o> \;xh:-:m A A il ULLJ_” jdbguSlha C’J.c.""
| 3Ll S

sy (il 330 5L Unlg () g Liaiad l paiad glasial iliud) o558 IS
¢ bl A3y jlar 5 jlaal! m&_asgl‘_-,&qqfsaguglwom\
Student: g liaisy) o 5l i
Instructor: we can say that.
Student: |
“——Qﬂ!-i(.io enjoy) S3 05 e (ki oA i ohessl) st of 08
Instructor: exactly and we can add to (enjoy).

e

— AYDI 2022/ T1
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~ We can say, i
L L gl 5y 300 50s Uolley e U3 Jgeas lesy

(ima 13 5 ((0 ensure customers can continue to enjoy) 8 Al

The need (o have it first and then they can cnjoy it
ok ok

Continue pleasc:
McDonald's said it usually imports the potatoes it uses from 3

port near Yancouver in Canada.
However, ships have faced delays due to flood damage and the

impact of the pandemic on the global supply chain.
Who would like to try?
Student:
b)‘wg‘mgﬂ\ Wl janaty o i Lo Bale Ll Jalli gaSle 4S50 sy

o aalill iy el G 1580 Cagaly Qaadl S1g (i€ 38 S e iy
Apalladl clalasyl Ao 8 dsitall

Instructor:
- Import: 2 s

{Aa) ol
Odu) gl 5 (Siad) a3 Us (ships)

Damage: J=

Supply: slaal/u ) 6

Pandemic: 4sils

The global supply chain: 4ualladl slaayi/ay il ALk,

We can say,

uAL....I_).A.’Ll bﬂudlg.a.l- U“” Ua‘.la_._” J)j.uaul..dé.)l.c. L&.ﬁ )_)Jh_,_,\SLﬂ A8y Car i

LigysS amila by ol e el )l oy <Al clinidl o<y Jus 2 350
Al ot dlale e

t

Student: |
(U008 Aadla) WO Gatl) 3Ly 58 1y S ol
Instructor:
It is implied in the text.
- Implied: 4acail
A (U558 il a8 Y1 03 3 (ilar) s Loaind

That’s why you should know the context.

ook
"

Science of Translation 2.3 14 AYDI zaﬁ/ T1
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Go on:

it will now turn to alterna.tive measures, including flying supplies
to Japan, the company said in a statement.
who would like to try?
Student:
Js )l bgbee Oy Aol o gl (I U5 o g W) il gy ja 8 3,00 i
UL e oty
Instructor: no, it’s not. What does (flying supplies to Japan) mean?
(i) ol (JUinl) e da () G st ¥ o
- Alternative measures: by 3 )l
- Flying supplies to Japan: N sl oadll Guoh e Oasall o il
B
We can say, )
o=l Gk o 033l 3LElS W 3yl I OV Lt LT 3581 Coyn o1 2
oL G s sl

ok ok

Continue please:

This is not the first time McDonald's in Japan has been forced to
downsize its portions. In 2014, a protracted industrial dispute
between 20,000 dockworkers, terminal operators and shipping lines
at 29 ports on the west coast of the US caused a shortage of French
fries.

Who would like to try?

Student: ‘

e i ) o) 3 5ol aSte AS 50 g s 1 (91 5l sl L

Diyie i 3] sk peliva £l s YoV ple i ey (8 AR UL
o LA 3 elia Y e (gl oneill b sliiay (il gl deee o Wl
el sl A 3 Liah 4S5 sl sandall DY sl e

Instructor: e
(LAl ) s (0mnm) 5501

- Portions: gares

What did you translate (protracted)?

Student: a3 sk .

Instructor: we can say (J3k) i.e. it took Uime.

- Protracted: J3ka

) -
—— PR

T Ay DY 2022/ T

H)
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- West coast: ol dabull _ .
" (e A i) Gad

- Dockworkers: i sall dwe

Who else?

Student: o o ) _
Dot ) O g 8 sl L i ) AN Bl S
Y o ol sl e elise YA 3 ool boghas g bl (aday 1l

) gliall Ualaglt adi M (ool Las aaidl)

Instructor: ok.

Downsize; gl

Industrial dispute: el g1
Terminal operators: <idasall Jrda
Shipping lines: oaill Ja glas

Ports: () se

* %k

Continue please:

In response, McDonald's Japan took the emergency step of only
selling small portions of French fries while it flew in 1,000 tonnes of
potatoes.

Who would like to try?
Student:
tu (_DL‘LUA'L:;J‘JL&A U\JLI:“ uﬂ JA]LJJ.)SLa A.S_}u: e éﬁj] (_gl.u.alu 3_}]:55_9
..... O A b ygiona Aglia Uy oo
Instructor:
' . o (¢8) ol g (Uasan) As3 (portions)
it flew in ) Jsall A5 (small portions) g psi 4 (emergency step) <
f6_Sall o3a 3 Jayl )l 58 Laé (1,000 tonnes of potatoes
Student: Laiy

Instructor: Ll
Lo ) B s anas (gahy sanal Gl CalY) Lisd J gy Uil b Leiw
We can say,
Do sbeall w20 il 61kl Babase UM S0l uSLe Sl a3 ole 19
o=l Gaylo e Aaslall Walladl ¢ya plo a1 Hlasil (e B 3y dazs ddal) Uolad!

-

Science o¥ Uisnslation 2.3 16
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b oo Aeld) sl O s Al (15 ) g of oS Y (flew) J iy,
(g5l gl

% ok
Go on:

Separately in August this year, McDonald's said it was facing

supply issues affecting the availability of shakes and bottled drinks
at its 1,250 outlets in the UK.

Who would like to try?

Student:
oA ISl e i Ll bl e oAbl caile| Jadite JS
g VYo i ala ) G slaally B gl Syl i e e it a0

saaiall A<Leall )
Instructor: thank you.
Student:
iy pall) Jsii ol Lo 5b (slonall 5 pually 5l o) (8 siaall cilyg pially o
9 (slaxall 5 43 5is o)

Instructor:
(Badall oy plall) Jaih W e dass ) (ladl) s Laas (@8 aa)
| (Bl g yally
- Shakes drinks: 43 sida Sl g yhs
- Bottled drinks: sl G5 e
What about (outlets)?
Student: JLiSHxy Jita
Instructor:
U (g 508) Jsi of Lude A U] Caad 50l 580 1
Gl i dghay s IS a gl Bl alisSle o) JE o oS Y
ol 8lia il 5 g 3 LeE 5l 5
Jst o it o Al (el 68l i) ity (eall Bie) i (outlet) Al
L (g59)
- Outlets: ¢ 52
Student:
G COUE 4 5 gl Ll 1 e ol e 8 3l g8k s jea 38 (Juadie iy
Vgt aYor Ldciat ) sl 88 il iyl i e i Las dlasy!
' Sasidl Aladll

—_—

—
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fudent:
S_(_g!éys) syeidl o Yo € ole 3 %40 alaial s (this year) = 3 gwaidl Ja

Instructer: no, it’s not. o
Congl Wil U (kg (S (go Cilimn ks o 55323 Yo 1 £ plo (8 Lyidad Latie
QYN E 0 B 1 S0 Ly 5l 5Ste die oyl sk Alla L deany A (5018 )

OV A L iloma 3 Al el g sty p68 (this year) |5 Lasie Wiy
f(Jeiita JS5) }é s a1 Ay yhay (separately) g i Ol OSay g
Student: <l e Ty
Instructor: (Ses
(s 3 Bsli a5) J s OF oSy i Bagan 3,88 G Suani g
R

Go on:

The company said a nationwide shortage of lorry drivers was one
reason behind the disruptions: "A number of issues are impacting
retailers in the UK at the moment, one of which is the nationwide
shortage of HGV drivers.”

Who would like to try?

Student:
¢l Slaa¥l aad IS Clialdll aila A0S aae ¢ 48,30 CllE ik g yeeal) e
saniall dlaall (2 el s e iy 0 KA e dae lint el Yl

th ll apalt e LGN AL Bl 8 Gaiil g sl el ca s
Instrucior: thank you. "
el (o el AL O (b yeall o) L Gien i Sy iy
o el 0 e i a1 ) g Ly i
J‘*.-!LM‘*Syi!'-l'AMLe—"' oline 13gd (b gl aal) e Cin juc) Jsis Laie
Akl o3y Al s o 8y V@l s e NS 1as ¢ e U
13 Wlia Caulie g il B g (15 5adll dady Mo b D
Aulle pe 3 (0 ) N (retailers) caas i oSiha )
(&3 & (outl . oo
g e R @ (outlets) (e i L (retailers) e
O e M s 0 (B30 Ly H2dll) o (6 all s (retailers) el

H ) . P .J\AA ‘ 4, ' l:LJ d )
- Retaiiers: g 53 ( ) o (Al led) ds*

DWigsleg 5 4 de i cialal oo AL o g OIS Ao

Student:
A e g (U jhaal) L6 (el U . :
el ( ) (“'*“U?“‘) ) (disruptions) aa i of oS Ja
, dasll e Ll (38 5 e
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Instructor:
spaially Dlindll Jpens (A bl cin g cleUdl gl caas
el iz Eiani Ly R0 gy Gl 3 5L 41 D8 3 pom g G Y
(U kal) a5 (Gl ety 4
- Disruptions: <l ksl
Student:
f(8) Jsti of oS o
Insfructor:
(J5) G 085 (3 e sf (it 58 O o
- Lorry drivers: sl s,
- Nationwide: 3l 5 siva e
- HGV drivers: 4Lal ciliaLal b
We can say,

sy abed) sl OIS DU sss Gle ool (2l 2 ezl o) 35800 el
2 aall Ehall 2 50L58k 955 Gle ,55 LB GSAL (e sae dlilis (bl sy
DU § g Gle ALEN sla il Gale 2 Laiill ga laasl Ll <o gl

Student:
Ol il cliald) J g of oSa da
Instructor: no, we can’t.
(ALE Cliald) il clialidl ¢ 5 (e Gaali 0al
- TIGV: heavy goods vehicle
(ALS Clals 3y s (HGV drivers) d i adl il (&1

LR S

Go on:

The company added that a "historic" short-age of drivers had
been exacerbated by changes to rules following the UK's exit from
the European Union.

Who would like to try?
Student: .
o il il s Y A L) e B Gsg U LS s 4l A0 b
. 290301 SN (g Bantalt ASLedll - 5 A&
Instructor: o '
J8 88 dglaa e b (historic) Al Caaasiud elil (gl (i Ule) B el
("historic" shortage of drivers had been exacerbated) 434551 Adaalt 3
This historic shortage was made worse after the UK’s exit from the
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European Union, so retranslate the sentence.

Student: .
i ) A B85 8 IS oLl shae B s 0" B of A, il
"’?_.U‘)J‘}“_)L;_‘:Ylwidﬂ‘w‘cjﬁwogbm
Instructor: exactly. :

Student:

$U8 (o aas 4l ‘,i (9. skua & | (3205) 2 2 gaial Ja
Instructor:

U8 (g Sang ol A iy (Ggpese ) (A5 1 (A1)
Student:

el gl 8 el il Cap L8 L) 2o (4 Ao Ul paiill of bl L
u‘“.’JJS“ ng‘OASL:IAM QSLMHC}J;

Instructor: thank you.

Student:
S0l 58) ol (o 58) Jsw o Lide
Instructor:

(S i) O sl (il 58) 5l (221 58) 155 o 0y

Thank You
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